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Equation

Word
Problems



Equation Word Problems
1. Define the variable
2. Write an equation

3. Solve the equation

4. Check your solution



1. Find the sum of the current grades
2. Add the unknown grade to the sum
3. Set the answer from #2 divided by
the number of tests equal to the

desired average

4. Solve



Example to COPY DOWN

Sally wants a test|/average| ofin class. If she
- an.i and 85)on her first(four)test.

What must she score on the(fifth)test to accomplish
her qoal? X= 5t esFScore
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Example to COPY DOWN

Sally wants_a test average ofln class. If she

[scored/ a @‘and@on her flr'sT tests.

What must she score on 'rhe'res'r to
accomplish her goal? X = ¢jth +€S‘\" Score.
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E;gample to COPY DOWN
TURNM. — prialol wkt.

If {0)less than/a numben is multiplied]by(3)
the resultequal tothe number.
What is the number?  MH-
2( X -10)= 2K
IX-XE=2"X
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Example from Worksheet 710

—-'

“Three fourths|of(a number

US|

s{36) What is

the number?

(F X = (@)
[X=g)




Example from Worksheet 720

Quanisha's father is(foupftimes)as old as
Quanisha, and the Sum|of their ages]is/50)

years. How old is eacri?
X=QS a9e  |pyrg gy X+4X=50
4x = @‘S -Pcd’hu\sqasz_, ZX :é_l?
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Example from Worksheet 720

Deidra and Shelby inherited an estate of

Deidra is to receivimes as

much as Shelby. How much does each
receive?

X = Shelbgs §§ 310 X +21 :%go

2X= Deidas\§ £2,000 %X&%_
000
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